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v Answer any FIVE full questions.
v" Missing data, if any, may be suitably assumed

Novel Investment Ltd. accepts Rs 10,000 at the end of every year for 20 years and

(10)

pays the investor Rs 8,00,000 at the end of the 20th year. Innovative Investment Ltd.

15,0

acceBts Rs 10,000 at the end of
,000 at the end of the 25th

year.

present worth base with i = 12%.

[Show calculations, Draw cashflow diagram-with explanation]

every year for 20 years and pays the investor Rs
hich is the best investment alternative? Use
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1B A person is planning for his retired life. He has 10 more years of service. He would

(10)

like to deposit 20% of his salary, which is Rs 4,000, at the end of the first year, and
thereafter he wishes to deposit the amount with an annual increase of Rs 500 for the

next 9 years with an interest rate of 15%. Find the total amount at the end of the
10th year of the above series.
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2A (i) The price of Coffee increases from Rs 50 to Rs 70 per kg and as a result

demand for tea increases from 5kg to 10kg. What is the cross elasticity of demand of

tea to coffee?

(10)

(i) If the consumer's demand for a commodity increases from 100 units to 200
units/week when his income rises from Rs 2000 to Rs 3000. Find his income elasticity.

2B

industry.

IHS 241

Explain 5 types of price elasticities of demand.

Suggest ways and means to motivate an employee to perform more effectively in an

(10)

(20)
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4A Explain on the Job Training Methods.
4B What are the factors that influence an effective span?
A  Explain the following terminologies
(i1) Service output method with the help of an example
(i) Sinking fund method with the help of an example
5B What are the sources of Man-power recruitment?
6A Compare Maslow's and Herzberg's Theories
6B Explain Mc. Gregor's X and Y Theories.
7 Explain Managerial/Leadership Grid and explain how the same is used in the
Industry.
8 i) Explain factors of Production in detail
i) Straight Line Method of Depreciation with help of an example
i) Declining Balance Method with help of an example
iv) Cross Elasticity of Demand
)] Income Elasticity of Demand
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